| MATHEMATICS (New) 9% AAC ||
Time: 20 Minutes Marks; 15
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Note:

3) 1fmore than one circle in the OMR sheet is filled then no credit will be given to such answer.

i, The point (+6,-6) is located in Quadrant.

® I ® I o @1 © Iv
i. Thediagonalof __ does not divide it into two congruent triangles.

® Rectangle ® Square o Trapezium © Parallelogram
iii. The line segment from opposite vertex to the midpoint of opposite side of a triangle is.

® Altitude © Bisector £ Medien ® Radius
v. Any point on the bisector of an angle is equidistant fromits

® Basc ® Centre £ Ams © Vertex

v The sum of the length of any two sides of a triangle i the length of the thi m
® Equa ® Smaller & Great a wrren
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vi. The measure of a line segment joining them --f..-..,- ; “:;. is 3.5¢cm. The mBC will be.

® 4.5m bem ® Tem
vil. lfth:lmmhﬂf cdmanglcareumnndicm then the length of its hypotenuse is.
ﬁJ 13cm © ldm © I15m
vill, triangles have equal bases and equal altitude, what else they have equal?
® Am © Peineer @ Sie © Anges
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XI. Base of common logarithm is.
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i, (yl=__
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xiii, Factors of 8y’ -2’ are
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xiv.  HCPof (++6) and 2~ 36 i i
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